AR BT R E TS ER 3H 10H WoE T R OB OE E % B 446 t
[BrE 367 t ] [R%E 79 t )
B ATEIIEIBESG B 7 %iE EFHED DL ATMEIZFIBRE R 16 % s
B fr: H (BHAR)

i E FEEH | B | B & % B B = FHEEM | B A | B E Z B
N A & 200 g 86 43 | DA FoER L 10 ke 5, 400 -
LA = R 250 g 108 — || HEHZD»PA iz = 10 ke 5, 400 —
Nll= o Vs G 200 g 86 43 | WEhA IR 10 ke 3, 240 1,836
IO NAED = R 200 g 86 54 | HL1 & & 10 ke 5, 940 3, 240
TR 51 150 g 129 — | 7RI E— = B 250 g 324 140
LwAEL X K 180 g 118 97 | DHDMH = B 250 g 324 140

— — = — — || &R = B 270 g 1, 188 216
2N A " 5 10 ke 2, 700 1,944 | 7—/R A1y R 9 ke 15, 120 —
FEELZ A A = & 10 ke 4,104 2, 700
<& ' I 15 ke 3, 780 3, 240
Xy = A 10 ke 2,700 2, 160
L&A K & 10 ke 3, 780 2, 160
Two Y = IR 5 ke 2, 700 1,944
AR & AN 5 ke 2, 160 —

F< k Ag K 4 ke 2, 160 —
B =TS 150 g 108 —
ERZAED FOAK L 2 ke 2, 700 1,944
IFho Lok RIS 10 ke 3, 672 2,916
ERE L 10 ke 3, 564 3, 348
A LW ™ B 100 g 194 118
LH L £ % 100 g 75 43
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WMo AWEILRIBEEZAE 3 % IEn [fEfm 21 ¢ ] (3 9t ] [#E+ 8t ]
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fief =\ iz} +

i = FEEM | B | & E % 1B Eh = FEEM | B | 5 @ % B
£F S AHE — — — — | |y F U 1 ke 3, 024 1, 080
WmESAE KEEE 1 kg 1, 263 — | YA VT o — 1 ke 1,188 702
V% ’ I& 1 ke 1,296 108 | #T = TADH 1 ke 2, 160 1, 080
oS ® 1% 1 ke 2, 700 475 || ZEHi FOER (L 1 ke 1, 458 —
AT Ao 1 ke 324 108 | U A O 1 ke 4, 860 1,728
AN A AT E I 1 ke 1,047 993 | BTV~ AbiEE 1# 248 162
{E N F ™5 1 ke 1, 728 648
/&5 A = IR 1 kg 1,728 540
fE& o T I 1 ke 2, 376 —
INTE OB 1 ke 702 —
VA, kg 1 ke 1,728 594
ok I B 1 ke 3, 456 810
7 5 1ke 1, 836 756
ET7Y IR E 1 ke 2, 527 756
VA = H 1 ke 2, 484 1, 188




